Roll No 230809165350

Registered Photo

Registration No R230809165350 T
Candidate Name SHANIKUMARYADAV
Module Name ELECTRICIAN-YEAR 1
Exam Date 04-Sep-2024
Exam Batch 12:15-14:15
1) TRADE THEORY

Question No. 1/ Question ID 59 Marks: 2.00

Which type of joint is used for extending the length of conductor in over head lines?
3R BS AR A HSack P ddls deM & (o7t fhy UHR & SIg 1 SN far S 872
(A) O Western Union joint (Correct Alternative) (Chosen Option)
\_rl'\l"s';? (Correct Alternative) (Chosen Option)

(B) O Scarfed joint

FS Sige
(C) © Britannia “T” joint

T Siige
(D) O Aerial tap joint
ey Hige

Question No. 2 / Question ID 93 Marks: 2.00
What is the Sl unit of Flux density?
TR °cd BT S| A o1 872
(A) O Weber/metre
Weber/metre
(B) O Weber
Weber
(C) O Tesla (Correct Alternative) (Chosen Option)
Tesla (Correct Alternative) (Chosen Option)

(D) O Ampere-turns
Ampere-turns

Question No. 3 / Question ID 76 Marks: 2.00
What is the formula for the equivalent resistance (Rt) of the three resistors R4, R, & R3 are connected in
parallel?

TR H 8 I UfRIUDT Ry, R, 3R Ry & TAT™ UfeRIY (Ry) BT G T 572

A O Ly NE WMWY :
T R, Ry A, (Correct Alternative)
W R .
T R, R, R, (Correct Alternative)
B)O o
=
iy

_ i
TR




C =
©)0 r.- (Chosen Option)

(Chosen Option)

(D) O Rr=Ry{+Ry+Rj
RT=R1+R2+R3

Question No. 4 / Question ID 292 Marks: 2.00
What is the function of circuit breaker?
qfdhe B BT B T 82
(A) O Breaks the circuit automatically at normal condition
I fUfa o wfdhe Wanfad U 4 ge Sar g
(B) O Connects the circuit automatically at abnormal condition
3T fRufa & Tfhe o) wafig ®u A Sisdr g
(C) O Makes the circuit automatically at abnormal condition

Y fRUfd H Tfthe &Y waferd TU 9 s91d1 8

(D) O Breaks the circuit automatically at abnormal condition (Correct Alternative) (Chosen
Option)
= fRUfY A Tfdhe wa=nferd ™0 & ge &a1 8 (Correct Alternative) (Chosen Option)

Question No. 5/ Question ID 37 Marks: 2.00
What is the use of Britannia ‘T’ joint?
freTfan & Siige &1 o1 IUANT 57
(A) O Extending the length of the lines
SIESICARSEIEE AR
(B) O Mechanical stress not required on conductor
HEFR W TIAG qHId BT A=Al ol o
(C) O Tapping the service connection from overhead lines (Correct Alternative) (Chosen Option)
| O Ofdg HA9RE F U BT (Correct Alternative) (Chosen Option)

(D) O Inside and outside wiring installation

3R 3R STeT I RTOd AT

Question No. 6 / Question ID 13 Marks: 2.00
What is the name of the part marked ‘X’ as shown in the figure?

o A femme mu X faf|d v &1 919 . 82

L —==§_ >
] X
i
(A) O Heel (Correct Alternative) (Chosen Option)
HIS) (Correct Alternative) (Chosen Option)
(B) O Tang
T
(C) O Point

e

(D) O Edge
Tl




Question No. 7 / Question ID 39 Marks: 2.00
What is the purpose of the bedding insulation in the U.G. cable?
U.G. Had § 98 SIARM &1 364 &1 872
(A) O Protect armouring from atmospheric condition
@l argHedy fRufaal @ qar
(B) O Protect the metallic sheath against corrosion (Correct Alternative) (Chosen Option)
UTfa® Had &I &R | T4 (Correct Alternative) (Chosen Option)
(C) O Protect the cable from mechanical injury
e B FifAdb &ifd I T

(D) O Protect the cable from moisture and gases

A DI TH T T J ST

Question No. 8 / Question ID 168 Marks: 2.00
What is the standard frequency of AC supply in India?
HRd # AC 3MMfd &) A Sgfy Fam 82
(A) O 60Hz
60 Hz
(B) O 25Hz
25 Hz
(C)O 75Hz
75 Hz

(D) O 50 Hz (Correct Alternative) (Chosen Option)
50 Hz (Correct Alternative) (Chosen Option)

Question No. 9 / Question ID 266 Marks: 2.00
Which type of relay can be operated on both A.C and D.C supply?

5T YR &1 e A.C 3R D.C TFI Iwelts WR I=nferd fodm ST gebdT 872
(A) O Ferred relay

(B) O Impulse relay (Correct Alternative) (Chosen Option)
e (Correct Alternative) (Chosen Option)
(C) O Dry reed relay

(D) O Thermal relay

Question No. 10 / Question ID 327 Marks: 2.00
What is the name of the lamp as shown in the figure?

for o feamy U o9 &1 9 = 82




(A) O
(B) O
(C) O

(D) O

MA type HPMV lamp (Correct Alternative) (Chosen Option)
MA &R HPMV dIusd (Correct Alternative) (Chosen Option)
MAT type MV lamp

MAT J&HR MV T

MB type HPMV lamp

MB UHR HPMV Tiudh

HP metal halide lamp

LELIKIGENIESIS

Question No. 11 / Question ID 241
What is the advantage of the concealed wiring?

I g< arafie &1 R Braer 87

(A) O
(B) O
(€)O

(D) O

Less voltage drop

HH dlecs UTd

Easy to maintain

HHTAH H S

Protection against moisture (Correct Alternative) (Chosen Option)
G| Y& (Correct Alternative) (Chosen Option)

High insulation resistance

I HATdD YRy

Marks: 2.00

Question No. 12 / Question ID 391
Which type of A.C single phase motor is used in food mixer?

TTe fIRR & {5 UBR &1 A.C Tdhd ol Hiex BT SUINT fhdT SiTdr 872

(A) O
(B) O

(€) O

Split phase motor

Universal motor (Correct Alternative) (Chosen Option)
‘qﬁﬂﬁ?{ Hiex (Correct Alternative) (Chosen Option)

Shaded pole motor

(D) O Repulsion motor
PIRCAURI

Marks: 2.00

Question No. 13 / Question ID 404
What is the relationship between the primary voltage (E4, V4) and secondary voltage (E,, V5) in a ideal
transformer?

TH e TBER & Wil dieed (B4, V4) 3R fgdiad dieed (E,, Vo) & S o e g7

Marks: 2.00




¥y

|
|
| EL63022

(€) O

(D) O

|
|
| ELtG2022

E1 < V1 and E2 < V2
E1 < V1 and E2 < V2
E1 > V1 and E2 > V2
E1 > V1 and E2 > V2
E1 V1 and E2
E1— V1 and E2
Eq=
Eq=

V, (Correct Alternative) (Chosen Option)
V5 (Correct Alternative) (Chosen Option)
V2 and E2 = V1
V2 and E2 V»]

Question No. 14 / Question ID 289

Marks: 2.00

What is the purpose of the circuit diagram in wiring installation?

(A) O

(B) O

(€) O

(D) O

IR ST | URTY 3RRG BT I8 FT 52

To estimate the various accessories in the circuit
Hfre o fafl Frelt &1 Srgam @ & fore

To show the schematic connection of the circuit for a specific task (Correct Alternative)
(Chosen Option)

it fafRry cauky ﬁ'l'q gfthe &1 gieTdag Ha=H ﬁ'@lﬁ & ﬁ'q (Correct Alternative)
(Chosen Option)

To estimate the cost of various accessories
fafts TgrIeh IUBRUN bl AN BT ST T o forw
To show the physical position of accessories

Tl &1 Hifces fufd faem & fag

Question No. 15/ Question ID 38

Marks: 2.00

What is the name of the part marked X’ of the belted U.G cable as shown in the figure?

o A fow@u T 9 s U.G. Shad & X' RIf{d YR &1 9H 1 g2




|

(A) O Lead sheath (Correct Alternative) (Chosen Option)
LR (Correct Alternative) (Chosen Option)

(B) O Paper insulation
R SYoI=H

(C) O Armouring
STHIET

(D) O Jute filling
oo

Question No. 16 / Question ID 156 Marks: 2.00
What is the purpose of the phase sequence meter?
Ul 3IehH HieR BT I53T T 872
(A) O To measure the voltage of 3 phase system
3 TSl YUTTcl! & dlecsl i U o forg
(B) O To control the speed of 3 phase motor
3 Tl HIeR 1 Tfa &I FafHd A & fog
(C) O To protect the motor against short circuit fault
Hiex &1 1 Fidhe gy I g9 & fag

(D) O To indicate the phase sequence of 3 phase system (Correct Alternative) (Chosen Option)

3 TroT YUITE! & TROT SJhH G| '{ﬁﬁr AP ﬁ‘l’[{ (Correct Alternative) (Chosen Option)

Question No. 17 / Question ID 214 Marks: 2.00
What is the total voltage of the circuit as shown in the figure?
fom o feRaTe 3FUR wfdhe &1 o diees &1 87




(A) O 6.0 Volt
6.0 Volt

(B) O 1.5 Volt (Correct Alternative) (Chosen Option)
1.5 Volt (Correct Alternative) (Chosen Option)

(C) O 7.5 Volt
7.5 Volt

(D) © 9.0 Volt
9.0 Volt

Question No. 18 / Question ID 114 Marks: 2.00
Which electrical quantity causes for the heat generation in a conductor?
DI It fagga IR ft e o ST I HR BT HRUT S 572
(A) O Square of the resistance

gfeRTe &7 I
(B) O Voltage
Jiees

(C) O Square of the voltage
cakeo
(D) O Square of the current (Correct Alternative) (Chosen Option)
YTRT BT G (Correct Alternative) (Chosen Option)

Question No. 19 / Question ID 363 Marks: 2.00
Which type of meter is used to test the polarity of battery?
et B ¢fadr s & o feg TR &1 Hiex YA fasar ST g2
A) O Dynamo meter type wattmeter
SlidHIHICQ JhHR P dICHIC




(B) O Moving iron ammeter
Id dig 3R
(C) O Moving coil voltmeter (Correct Alternative) (Chosen Option)
gd %?ﬁ dieeHier (Correct Alternative) (Chosen Option)
(D) O Moving iron voltmeter
EN

Question No. 20 / Question ID 343 Marks: 2.00
What is the reason for supplying AC to the electrodes for measuring earth resistance?

gt UaR1Y Y {1 & 7T Seiacle 1 Tl 1 3MTYf P Bl T BRI g7
(A) O Reduce the value of current in the meter
o YRT BT /H GSHI
(B) O Protect the coils in the meter
Hicx H pecil ol gifard 3@
(C) O Avoid the effect of electrolytic emf interference (Correct Alternative) (Chosen Option)
fagga sruged faar 9@ &1 g (Correct Alternative) (Chosen Option)
(D) O Provide electrostatic shield

R fagygd 2 uaH &

Question No. 21 / Question ID 406 Marks: 2.00
What is the cooling method of the transformer as shown in the figure?

fot 7 fEaTU SR B RR &1 Sfaed fafy &1 g2

(A) O OQil forced air forced cooling
o aferd gar sferd 81 AT
(B) O OQil natural water forced cooling
d UTepfdes Ut sferd ST
(C) O OQil natural air forced cooling
dd Ul gaT dfeld 38T dAl
(D) O Oil natural cooling (Correct Alternative) (Chosen Option)
&SI (Correct Alternative) (Chosen Option)

Question No. 22 / Question ID 308 Marks: 2.00
How the cable size is decided for the power wiring?
OTeR I & U Had BT AHR HY a3 [T STl g7
(A) O By the load current (Correct Alternative) (Chosen Option)
IS He A (Correct Alternative) (Chosen Option)
(B) O By type of load
YR & USRI
(C) O By the load power factor
qIS UTeR e ¥
(D) O By the applied voltage

L




Question No. 23 / Question ID 146 Marks: 2.00
What is the value of current in the 1g?

lg T UTRT T 7 &1 82
g
1=24 N
1,554
AV E
l=4A T
;
a
=24 N
=54
=34 ls=1A
b4 E
I=4A T
3
(A) O SA
5A
(B) O 3A
3A
(C) O T7 A (Correct Alternative) (Chosen Option)
7 A (Correct Alternative) (Chosen Option)
(D) O 8A
8A
Question No. 24 / Question ID 193 Marks: 2.00

What is the total power by two wattmeter (W4 & W5) method, if one of the wattmeter (W5) reading is taken
after reversing?
&l areHieR (W4 & W,) fafd gRT $at =ifaa o1 g, afe arediier (W,) & & Th &1 Uredis Sdc o ol SiTdl 72
(A) O W4 -W, (Correct Alternative) (Chosen Option)

W, - W, (Correct Alternative) (Chosen Option)

(B) O Wy only
&HId W,

(C) O Wqx2
W4 x2




(D) O Wy +W,
Wy + Wy

Question No. 25/ Question ID 9
What is the name of the tool as shown in the figure?

o # feRaTy 70 IUHRUT BT TH 1 82

LA HHL

LM

(A) O Diagonal cutting pliers (Correct Alternative) (Chosen Option)
IS WRR (Correct Alternative) (Chosen Option)
(B) O Nose pliers
IR REWR

(C) O Crimping tool
fopfaiT ¢
(D) O Combination pliers
QIR

Marks: 2.00

Question No. 26 / Question ID 206
Which formula is derived from the Faraday’s law of electrolysis?

B8 & faggd sraucd & fFoH q HF 1 G Jad g3 82
(A) O M=2ZIt (Correct Alternative) (Chosen Option)
M= 2Z 1t (Correct Alternative) (Chosen Option)
B)O M=Z/It
M=2Z/It
C)O M=zt
M=2ZtI
D)O M=1t/z
M=I1t/Z

Marks: 2.00

Question No. 27 / Question ID 356
What is the unit of sensitivity in voltmeter?
diecHier H Yagefied & sols 31 87
(A) O Ohm/metre

Ohm / metre

(B) O Volt/ohm
Volt / ohm

(C) © Ohm metre
Ohm metre

(D) O Ohm / volt (Correct Alternative) (Chosen Option)
Ohm / volt (Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 28 / Question ID 160
What is the line voltage in 3 phase system if the phase voltage is 240V?

3 Ut ey & af e dieesl 240V B, A A8 dlecst &1 GRTT?
(A) O 415 Volt (Correct Alternative) (Chosen Option)

415 Volt (Correct Alternative) (Chosen Option)
(B) O 440 Volt

440 Volt

Marks: 2.00




(C) O 380 Volt
380 Volt

(D) O 400 Volt
400 Volt

Question No. 29 / Question ID 259 Marks: 2.00
Which type of lamp holder is used for the incandescent lamps of above 300 watts?
300 A1 ¥ SHW & AUGIE oYU & o {6 THR & U gieex BT SUANT foa SiTdl 672
(A) O Goliath edison screw type holder (Correct Alternative) (Chosen Option)
Y Q‘%’\‘F-l P cIguU 3.1?&'.? (Correct Alternative) (Chosen Option)

(B) O Edison screw type holder

TSI &P T18Y Bleex
(C) O Porcelain batten holder

TIRfH e giee]
(D) O Porcelain angle holder

ifieH TTd BieeR

Question No. 30 / Question ID 154 Marks: 2.00
What is the formula to calculate the line current (IL) of R-C parallel circuit as shown in the figure?

ICER:RERGIN R-C GHI<IR URTY &1 @12 URT (IL) BT UM HRA 6T I3 1 82 (- 1 &1 IL H 5

(A) O I

:IR ‘Ir:
IL:IR ‘Ic




(B) O i 12 +12 | (Correct Alternative) (Chosen Option)

e 12 +1.2 | (Correct Alternative) (Chosen Option)

1
(D) O I, =l +1.
I =l +1;

Question No. 31 / Question ID 230 Marks: 2.00
Why the vent plug is kept open during charging of a battery?
X & SHTARM & SR de W DI GaT i @l offdl g2
(A) O To allow oxygen enter inside
B 3aR 3 & 8

(B) O To escape the gas freely (Correct Alternative) (Chosen Option)

ties | e Fpaq %‘g’ (Correct Alternative) (Chosen Option)
(C) O To check the colour changes in the plates

QIC T T F&T SiH 8
(D) O To check the level of electrolyte

fdqgd srugcy &1 TR SidH 8q

Question No. 32 / Question ID 419 Marks: 2.00
How to determine the core loss in a transformer?
SIHIAR | HR A &1 YR Y B2
(A) O By ratio test
3{UTd URI&0T gRI
(B) O By short circuit test
I1E Hfdbe uRTerm grR1
(C) O By open circuit test (Correct Alternative) (Chosen Option)
3N Afbe gdieur grRT (Correct Alternative) (Chosen Option)
(D) O By impulse test
3{TAT GRI&0T GIRT

Question No. 33 / Question ID 388 Marks: 2.00
What is the function of the neutral conductor in AC supply system?
AC 3MTYfdt Tomelt H ed dredex BT o B g2
(A) O Maintains the load current constant
TS PHec B FRR TE Gl 3
(B) O Increases the voltage level
dieesl &R §IdT 8
(C) O Provides the return current path (Correct Alternative) (Chosen Option)
fred #euy Ul ddl % (Correct Alternative) (Chosen Option)

(D) O Reduces the voltage drop in wiring
T # diees 91U B HH Bl §

Question No. 34 / Question ID 112 Marks: 2.00




Which method is used for measuring 1 Ohm to 1 megohm range resistance?
1 39§ 1 MR XS IRy &1 110 & forg fope fafdy &1 IoinT fopan i g2
(A) O Voltmeter and ammeter method
Jleetier SR wieR fafy
(B) O Wheat stone bridge method (Correct Alternative) (Chosen Option)
%:TE@T-I foret fafer (Correct Alternative) (Chosen Option)
(C) O Substitution method

(D) O Kelvin bridge method
forot fafer

Question No. 35/ Question ID 339 Marks: 2.00
Which material is coated in tungsten electrode of a fluorescent tube lamp?
TR e U § ¢TRe 3adeis & fhy yard § aftd forar Sirar 82
(A) O Barium and strontium oxide (Correct Alternative) (Chosen Option)

G Rfrﬁmw Gﬁ'il'\‘lﬁ?; (Correct Alternative) (Chosen Option)
(B) O Silver oxide
RicaR sfieTgS
(C) O Phosphor powder
Urds
(D) O Fluorescent powder
I UT3S

Question No. 36 / Question ID 116 Marks: 2.00
What is the resistance of Light Dependent Resistor (LDR), if the intensity of light is increased?
i UHTRT B eIl ST & ST df TehT T UicRIU® (LDR) o1 UfaRie 31 g1
(A) O Increases (Chosen Option)
§¢dT 8 (Chosen Option)
(B) O Decreases (Correct Alternative)
gcdl % (Correct Alternative)
(C) O Becomes infinity
3d B ST 8
(D) O Remains same

JEI|AT S

Question No. 37 / Question ID 99 Marks: 2.00
Where the air capacitors are used?
TR HURICR H1 IR Byl [T AT 872
(A) O In oscillator
3{iRyeex §
(B) O In VHF unit
VHF gfc §
(C) O Inloudspeaker
A SIh H
(D) O Inradio receiver (Correct Alternative) (Chosen Option)

Year frfiar A (Correct Alternative) (Chosen Option)

Question No. 38 / Question ID 382 Marks: 2.00
Which electrical quantity is unable to measure directly by the multimeter?

DI T fagyd 7B AeciHieR grR1 WY Arom § 3y 87




(A) O AC voltage
AC dlees

(B) O Resistance
TRy

(C) O Power (Correct Alternative) (Chosen Option)
UTdR (Correct Alternative) (Chosen Option)

(D) O DC voltage
DC diees

2) WORKSHOP CALCULATION SCIENCE

Question No. 1/ Question ID 459
Which is example for second order lever?
fadTa 3iTex AR HT HH-T1 IR0l 57
(A) O Apair of scissors (Chosen Option)

d[ Uh TR (Chosen Option)
(B) © Human forearm
gGAT HR3AH
(C) O Bottle opener (Correct Alternative)
(Correct Alternative)
(D) © Common balance
DA ol

Marks: 2.00

Question No. 2 / Question ID 449

What is the square of 0.017?

0.01 &1 ¥ T 82

(A) O 0.0001 (Correct Alternative) (Chosen Option)
0.0001 (Correct Alternative) (Chosen Option)

(B) © 0.00001
0.00001

(C) O 0.001
0.001

(D) O 0.000001
0.000001

Marks: 2.00

Question No. 3 / Question ID 443
What are fundamental units?
STH A TR ShI3AT PH-DI 67
(A) O Length, Pressure, Volume

GEIERACIRCICRE

(C) O Length, Mass, Volume
TS, S, S
(D) O Length, Mass, Area

TS, I, &

(B) O Length, Mass, Time (Correct Alternative) (Chosen Option)
mni, SIHTA, HY (Correct Alternative) (Chosen Option)

Marks: 2.00

Question No. 4 / Question ID 456
What is the side of a square whose area is 625mm?2?

TS o ) ool &1 gift, foraeeT ameet 625 o2 82

Marks: 2.00




(A) O 15mm
15 mm
B) O 20 mm
20 mm

() O 30 mm
30 mm

(D) O 25 mm (Correct Alternative) (Chosen Option)
25 mm (Correct Alternative) (Chosen Option)

Question No. 5/ Question ID 455 Marks: 2.00
What is the boiling point of water?
Ot ST FaYid &1 gidl 872
(A) O 212°C
212°C
(B) O o°c
0°C
(C) O 100°C (Correct Alternative) (Chosen Option)
100°C (Correct Alternative) (Chosen Option)
(D) O 32°C
32°C

Question No. 6 / Question ID 445 Marks: 2.00
How many millimetres are there in 1 inch?
139 ¥ foha fcfitieR gid &7
(A) O 2.54 mm
2.54 mm
(B) O 2.45mm
2.45 mm
(C) O 25.4 mm (Correct Alternative) (Chosen Option)
25.4 mm (Correct Alternative) (Chosen Option)

(D) O 24.5mm
24.5 mm

3) ENGINEERING DRAWING

Question No. 1/ Question ID 481 Marks: 2.00
Which single stroke inclined letter 'A" is correct as per IS standard?
IS AF & TR B 41 R T afehd dex 'A' Tgl 82




(Correct Alternative) (Chosen Option)

(Correct Alternative) (Chosen Option)




Question No. 2 / Question ID 482 Marks: 2.00
|dentify the name of the triangle?

AYS &1 A1y fafau?




(A) O Scalene triangle

(B) O Eaquilateral triangle
YS! Ao
(C) O Right angle triangle (Correct Alternative) (Chosen Option)
f?f'ljﬁl (Correct Alternative) (Chosen Option)

(D) O Isosceles triangle

Question No. 3 / Question ID 469
|dentify the conventional symbol of material?

I & URURD Udleh Bl ugar?

Marks: 2.00




(A) O Steel

LUId
(B) O Wood

(C) O Glass (Correct Alternative) (Chosen Option)
&Id (Correct Alternative) (Chosen Option)
(D) O Concrete

Question No. 4 / Question ID 477
|dentify the name of tool?
SUDU] hT qH l-IEStII"I".P

Marks: 2.00




(A) O Staright pein hammer
e UH e
(B) O Mallet (Correct Alternative) (Chosen Option)
FITIITeﬂ G| E»'Qﬁ?;T (Correct Alternative) (Chosen Option)
(C) O Ball pein hammer
Sid U gFR
(D) O Cross pein hammer

P U 3R

Question No. 5/ Question ID 478
Identify the name of tool?
SUDIU] HT AMH HEitII"I".?

Marks: 2.00




(A) O Open end spanner (Correct Alternative) (Chosen Option)
US WR (Correct Alternative) (Chosen Option)
(B) O Adjustable spanner
RIS TR

(C) O Combination spanner

(D) O Ring spanner
DICRICH

Question No. 6 / Question ID 464
|dentify the name of instrument?

3 ¥ fe@TE 77U IuSERON & 19 P UgaH He?

Marks: 2.00




(A) O Setsquare

(B) O Protractor (Correct Alternative) (Chosen Option)
gl (Correct Alternative) (Chosen Option)

(C) O 'T'square
& WRR

(D) O French curve
Hik! ash

4) EMPLOYABILITY SKILLS

Question No. 1/ Question ID 612 Marks: 2.00
PIN is

PING ....|
(A) O Personal Income Number
Personal Income Number
(B) O Personal Identification Number (Correct Alternative) (Chosen Option)
Personal Identification Number (Correct Alternative) (Chosen Option)
(C) O Professional Income Number
Professional Income Number

(D) O Professional Identification Number
Professional Identification Number

Question No. 2 / Question ID 621 Marks: 2.00
CPU consists of

CPUH ......... gagl




(A) O Input and output devices
$YC 3R 3M3cye fearsy
(B) O Storage device and ALU
Wl fEargy iR T.ua.g,
(C) O Control unit and ALU (Correct Alternative) (Chosen Option)
i {[ﬁ? (ﬁl’dﬁ'UT ng') 3R Q.Ud.Y, (Correct Alternative) (Chosen Option)

(D) O Input device and control unit

gYe fEargy 3R deid gfae (e 31s)

Question No. 3 / Question ID 588 Marks: 2.00
Which one is considered to be a good communication?
D I TH 3BT FIR T A1l 572
(A) O Sender is positive towards receiver (Correct Alternative) (Chosen Option)
& Ufd TUd THRTHD % (Correct Alternative) (Chosen Option)
(B) O Receiver doesn't listen to sender
Tl U &1 Tal AT
(C) © Message is ambiguous
= IR B
(D) O Sender attacks receiver
U5 DT REaR TR gHa1 Al

Question No. 4 / Question ID 559 Marks: 2.00
Which of these should be considered while making decisions?
fofr od a9 30 @ ford R 9 fovan S anfgee?
(A) O The choices of your friends
310 Gl 1 Ui
(B) O Your personal priorities. (Correct Alternative) (Chosen Option)
EIT?I&IWT'EI (Correct Alternative) (Chosen Option)
(C) O The rules of your community
310 THe™ & |
(D) O Your mood
TR e

Question No. 5/ Question ID 618 Marks: 2.00
A software application used to enable computer users to locate and access web page is called

SR FUANTHAIS B a9 Uof WioH 3R TR H3- H &l H & 18 SuanT oham S a1al Ue Sitead]
TAHRMA .......... ENIGIG

(A) O web server
CERSER
(B) O web browser (Correct Alternative) (Chosen Option)
99 TSR (Correct Alternative) (Chosen Option)
(C) O email

(D) O website

CERIE

Question No. 6 / Question ID 593 Marks: 2.00
Which one is NOT an element of 3P’s of public speaking?

9 4 B ufstes RRAfHT & 3 P BT dd 7T 22




(A) O Practice
Practice
(B) O Posses (Correct Alternative) (Chosen Option)
Posses (Correct Alternative) (Chosen Option)
(C) O Prepare
Prepare
(D) O Perform
Perform

Question No. 7 / Question ID 499
Time management

(A) O managing time
U= gAY
(B) O complete your task on time (Correct Alternative) (Chosen Option)
YT HTE THT R T Gy (Correct Alternative) (Chosen Option)
(C) O problem solving
JHT D1 A

(D) O hard skill
CARE AR

Marks: 2.00

Question No. 8 / Question ID 537
Word that is pronounced the same as another word but differs in meaning is called

Ig TTeg off ol GO e & GHM Bl 5, Wi o H st gl g, o

Marks: 2.00

HE1 oTdl §

(A) O homophone (Correct Alternative) (Chosen Option)
S (Correct Alternative) (Chosen Option)
(B) O diphthong
YR R
(C) O syllable
RIEHRY
(D) O homograph

Question No. 9 / Question ID 645
Which device is used to connect telephone line to a PC?
YRR O Sele A8 1 SiieA o o i gfaa &1 Uit fasa ST 872
(A) O Modem (Correct Alternative) (Chosen Option)
T (Correct Alternative) (Chosen Option)
(B) O Hard disk
TS fS&p

(C) O Monitor
A

(D) O Printer
fliex

Marks: 2.00

Question No. 10 / Question ID 539

Which punctuation mark should be used in the following sentence?
Is there any site engineer here

Marks: 2.00

fafoiead area | foog favm fag &1 TanT foear S 91fgT? Is there any site engineer here




(A) O !(exclamation)
I (exclamation)

(B) O . (full stop)
. (full stop)
(C) O , (comma)
, (comma)

(D) O ? (question mark) (Correct Alternative) (Chosen Option)
? (question mark) (Correct Alternative) (Chosen Option)

Question No. 11 / Question ID 693 Marks: 2.00
Feedback helps to .
BIgad H Heg HRAT g
(A) O Improve the service
a7 § YR B
(B) O Modify the process or system
b1 TT JUTTe! bl TR B
(C) O Meet customer satisfaction better
Ugeh! D1 HP B SgR i I [T B
(D) O All of the above (Correct Alternative) (Chosen Option)
SR & gt (Correct Alternative) (Chosen Option)

Question No. 12 / Question ID 490 Marks: 2.00
Ethics means

AfdBa BT 3 5.... |
(A) O employability skills

(B) O name of a city
Uch X T HH

(C) O not relevant to society
T ¥ Hefd 81 5

(D) O decide what is right and wrong for a human conduct (Correct Alternative) (Chosen Option)
T9 B P Aa SmRur & forg T 9l 8 3R T 71Ad (Correct Alternative) (Chosen Option)

Question No. 13 / Question ID 682 Marks: 2.00
Best way to identify customers needs is
G| D1 SRl DI UG B D] Y 33T aRIeh] g
(A) O By talking to them and survey (Correct Alternative) (Chosen Option)
I 910 PP 3R T HIh (Correct Alternative) (Chosen Option)
(B) O By advertising on newspaper
SYIR IR
(C) O Through 3rd person
& Ty g
(D) O By observation and Message
e gRI

Question No. 14 / Question ID 520 Marks: 2.00
Low level language is also called .
9 TR Byt B 1t HT ST §
(A) O assembly language
ERIRNLI]




(B) O machine language (Correct Alternative) (Chosen Option)
=T YT (Correct Alternative) (Chosen Option)

(C) O source code
I Pl

(D) O middle ware
HEOR

Question No. 15/ Question ID 568 Marks: 2.00
Communication that involves exchanging information without use of words is called
HH A FoTrTH Weg] & FUART & o1 a1 HT SHTEH-eH M &, HEArd §
(A) O npictorial communication
fUdpeiRad HRIHHH
(B) O verbal communication
Jad HRTHR
(C) O written communication

e Srgb A

(D) O non verbal communication (Correct Alternative) (Chosen Option)

14 ada Wﬁﬁ)‘!&:{ (Correct Alternative) (Chosen Option)

Question No. 16 / Question ID 525 Marks: 2.00
When you greet higher official’s such as Teacher, Instructor or Supervisor, you should use
SIS T4 R1giep, UiRIeie a1 wddeid oI I SIABING! BT 3ifHaIed B §, 1 3UD] Cal
ST 31 MY

(A) O Good morning (Correct Alternative) (Chosen Option)
Good morning (Correct Alternative) (Chosen Option)
(B) O Hey
Hey
(C) O Hi
Hi
(D) O Hello
Hello

Question No. 17 / Question ID 604 Marks: 2.00
Gender stereotypes can be

o feafiea gt g | ... |
(A) O personality development (Chosen Option)

famr (Chosen Option)

(B) O cheerful

KCRl
(C) O playful

EEN]
(D) O harmful and hurtful (Correct Alternative)

AR Wﬂﬂ (Correct Alternative)
Question No. 18 / Question ID 654 Marks: 2.00

Which one is NOT a storage device?
P T TRl fSarsy 81 82
(A) O USB flash drive

ST S12d




(B) O Memory card

(C) O Printer (Correct Alternative) (Chosen Option)
filez (Correct Alternative) (Chosen Option)
(D) O Video tape

Question No. 19 / Question ID 602 Marks: 2.00
Which of these is not an online job search platform?
STH q HH Ud Sf-aS Siid Td WehiH o 872
(A) O LinkedIn

(B) O Indeed
(C) O Glassdoor
TSR

(D) O Snapchat (Correct Alternative) (Chosen Option)
(Correct Alternative) (Chosen Option)

Question No. 20 / Question ID 489 Marks: 2.00
Jobs that have become outdated in the past 5 years

......... Tefeai ot e 5 auf & R 81 TE B
(A) O ola
3Tl
(B) O STD booth (Correct Alternative) (Chosen Option)
STD §Y (Correct Alternative) (Chosen Option)
(C) O swiggy
Swiggy
(D) O uber

Question No. 21 / Question ID 521 Marks: 2.00
Pronunciation refers to .
JER P! T P
(A) O production of sound (Correct Alternative) (Chosen Option)
dT IUIg (Correct Alternative) (Chosen Option)
(B) O consonant
CICE]

(C) O punctuation
[CRE]

(D) O diphthong
Yo TR

Question No. 22 / Question ID 631 Marks: 2.00
Spread sheets are saved with extension

TS MBI ... TRICTH & 1Y g fHar (Tgol) Sar g |
(A) O .xIs (Correct Alternative) (Chosen Option)

Xls (Correct Alternative) (Chosen Option)

(B) O .mp3
.mp3




(C) O .pdf
.pdf

(D) O .doc
.doc

Question No. 23 / Question ID 698 Marks: 2.00
Which of the following websites are not popular for finding jobs?
ol 7 O 319 Tt daurse Tt Ao & o aie it 781 872
(A) O Sheroes.com
Sheroes.com
(B) O Linkedin.com
LinkedIn.com
(C) © Naukri.com
Naukri.com

(D) O Twitter.com (Correct Alternative) (Chosen Option)
Twitter.com (Correct Alternative) (Chosen Option)

Question No. 24 / Question ID 672 Marks: 2.00
Money invested in purchasing of raw materials, payment of wages and salaries, rental, electricity etc
comes under

Fd A P TRIG, Holge! 3R da, faxmd, faeratt onfe & yiram & fa=r fsan man o s g1
(A) O fixed capital
3 Yol
(B) O working capital (Correct Alternative) (Chosen Option)
Tj'\\_rﬁ (Correct Alternative) (Chosen Option)
(C) O long term capital

(D) O capital income

GSINTd 311

Question No. 25 / Question ID 622 Marks: 2.00
CPU stands for
"CPU" I dTd © -
(A) O Central Processing Unit (Correct Alternative) (Chosen Option)
Central Processing Unit (Correct Alternative) (Chosen Option)
(B) O Central Progress Unit
Central Progress Unit
(C) O Central Planning Unit
Central Planning Unit

(D) O Central Programming Unit
Central Programming Unit




